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W = Mg = PAhg
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F,=W

Prio8V sim= Mg

Pro8 Vunkbject: Pobic& 4 wholebject
Ix10°V_ ... =0.8x10°(10cm’)
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7833 kg/m’
7500 kg/m’
5x10° kg/m?
5x107 ke/m’

750 kg/m’



AUASHD (Surface tension)
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AUl (Viscosity)
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vadlualugauai (Ideal fluid)
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duN15n19618LUa9 (Continuity equation)

dmin _ dmouf = sammalnamsit =0

dt dt
d(,OVm) _ d(pVout) :Q
At dt
av, dv,,
in __ ou :Q
dl. dl- vaeams lva
d(Avdt) _d(Av,dD) _,
dt dt

1 4 =
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A19819 03 U UsUN AN IULINSIALINUIY T9R51N15iMa 1072 m3/s 2990
gnsnsvesinluvieuszun Lﬁaviadqmuﬁﬁumu@uéﬂam 3 cm

dV
=—=Av

< dt
107 = (r’)v

107

3.14x(§x10—2)2 V

v=1414 m/s
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Aa

Initial position.
Time, t=0. _
AW =W, +W,
= Fix, — F)x,
=BV, -bl,
Fluid has moved to
the right by time t=0.
AE=E,-E,



Initial position.
Time, t=0.

AW =AE
4

(P] —}’2)V =| mgh, +imv22j— (mgh, +imv]2j

\ 2 \ 2

( 1 /
Fluid has moved to (})] _})2)V — ,OVghg +EIOVV22\ _(,OVth +EIOVVIZJ
J

the right by time t>0. \

/ 1 2 1 2
P —-F = \pghz v Pgh, 5P

Static Dynamic

Pressure Pressure

Static Pressure + Dynamic Pressure = constant
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P+ pghy += pv)” = P+ pghy = pvy
do  h =h,

ﬁﬁiﬂ+§mf=6+émf

WAANHN 3V IV MALATNANNITVDIUBTUS

(Fluid dynamics and Bernulli’s principle)
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* JUALIDAUIS 1DV NANNYY ANALAZIAIANALEND



1 1 2

P+ pghy += pv)” = Py + pghy + = pv,

b hz = h2

ﬁ@*3+§mf=%+émf

Low High High Low Low High

Velocity Pressure Velocity Pressure Velocity — Pressure

o YELO Pz rwRAE T ppame
=, | B = | - -3 ]
: E [

e B e wmF F 0
ol i 5 g e e - .
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9 w.e. vguwdunszawduan wasir lufieniamiusy

—= Air flow —  Air flow

T Lift created here
T Lift created here

NAYDIAINUAIITEIRINNAIUAY VINLALAR LN

See more here: http://www.youtube.com/watch?v=olVJzVadiFs

http://www.youtube.com/watch?v=5ltjFEei3Al
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A1suAaLseen (Lift force) waz wsina (Down force)

Longer distance, higher Velocity

[ —— lm reéssure

Shorter distance, Lower Velocity greater pressure




Spoiler

Down Force

Nnighar mressure
} ¢

-

T

=3
lesser pressure
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1 1 = a < foed 1 =
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WINAUNUIL LU N AR TUL Y 1.2 ke/m?

) )
P+ pghy+= pv)” = Pt pghy + 5 pvy’
do  h =h,
. ) 1
PN P1+§,0V12:P2+§,0V22
I 5, 1
P-P="pv. -~
1 15 2/7V2 2,0"1 ]

900 ==x1.2(v," —100%)
P -P :ip(vz—vz) Z
SR M v,=107.2 m/s



WUUBnYin ammwaqamww fiawmilondantudy 30 m/s ¥
pdspt sy 175 m LAEANUVU UL YD N AU T
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AU

il AT UINANUAULNLD-IANGIATIUIU = 135 N/m?
9. NAIAIUIUAITHNIABE19UBE = 2362.5 kg



